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1 AN Bl H N —r57 B 39 | 34 73
2 NI EIN Bt N w157 B 38 | 36 74
3 | kB BB N =57 Eika—2| B 38 | 36 74
4 | KIB f— BN —ARTT B 36 | 38 74
5 N RS hEE R LT 75T B 35 | 39 74
6 J i) A B =z NN R ER S B 39 36 75
7 | ARIH ZEFE L WRF YT N —257 B 39 | 37 76
8 Ji A& & iy R = L R B 39 37 76
9 PRI G WA TR N —057 B 39 | 38 77
10 | L =g N2 712 R —{ELA8 B 37 40 77
11 | FE %Al ZU—bVERRI VAR B 42 | 36 78
12 | BT K& HEH N —257 B 40 | 38 78
13 | 2% L B E T N — (B8 B 39 | 39 78
14 | KE FER = F N —{EE B 38 40 78
15 | ‘=% FW EAHHN =TT B 42 38 80
16 | ek (B4 =HEHVN—05T7 B 40 | 40 80
17 | @I = VF 705 N — 057 B 39 | 41 80
18 | FEP BakAR INAT L7 A B 38 42 80
19 | &=H B BEEMA N —r57 Eka—% | B 37 | 43 80
20 | 1A BIHY BB A N —rF7 ERa—2%| B 44 | 37 81
21 | PNH &k SEHIN—IF5T B 40 | 41 81
22 | B LAl — 5T B 39 | 42 81
23 | P IEE EHIHD =257 B 41 | 41 82
24 | R mpsm BB N —r57 Eka—%| B 41 | 42 83
20 | HJI B7 HHA N =257 B 40 | 43 83
26 | PEF e F L N — 25T B 43 | 41 84
27 HH R Wl =L 7 B B 42 42 84
28 ElL PN ST N =057 B 40 45 85
29 | HEE FniE Gl TNANEY e B 46 | 40 86
30 | #RIK5F FEAHALN =257 B 43 | 43 86
31 | HiR HZ BAY NI N =57 B 42 | 44 86
32 | A EE WAERAD N =TT B 45 42 87
33 | AEE yER Al =L 7 (B B 48 | 41 89
34 | Ry sof VA TIT5H N — 05T B 50 | 41 91
35 | Vil b BEHIHD =257 B 47 | 46 93
Ry Ot kB ko EH I —057 B 0 0 0
K| M A ST N — 05T B 0 0 0
R VAR F5H] HHEERS N —r57 Eka—2| B 0 0 0
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